THRISEE

A L C LK
BAMEE COD¥EE! | A(##BIA) £ K Hh 5% i i
]]
% St.1 e EXR-BEE —
—iRIEH _
K= (°C)
| X |KIE(CC) =E hE 2IKiR A Fiin =X R
48 Eh 21.2 16.2 16.2 15.4 6.5 BE kER-th| &|E
68 g 26.2 20.7 20.5 13.5 4.5 BE kER-h| |R
8H N 30.8 24.9 24.7 15.8 4.5 BE kER-h| &|R
108 55 21.0 23.0 22.9 18.0 6.0 BE xEf-f| #E
128 Eh 16.2 18.5 18.7 13.8 9.0 BE kER-h| &|R
28l ®Bh 17.8 16.9 16.5 135 10.0 BE | HEe-R| H#E
4FRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEME| 78~83| 756U F | 20LLF | 1000LIF | JEietH — —
EHE(75%IE) - 8.2 1.0(1.3) - <0.5 0.15 0.017
4H == 8.1 8.6 1.0 = <0.5 0.16 0.025
th & 8.2 8.9 1.1 - <0.5 - -
65 =B 8.0 7.8 1.6 - <0.5 0.13 0.011
th & 8.0 7.9 1.6 - <0.5 - -
8 g =B 8.1 7.4 1.6 - <0.5 - -
th & 8.0 7.5 1.8 - <0.5 - -
108 =B 8.1 7.8 1.3 - <0.5 0.17 0.016
th & 8.1 7.9 1.1 - <0.5 - -
128 =B 8.1 8.8 1.1 - <0.5 0.15 0.016
th & 8.1 8.8 1.4 - <0.5 - -
25 =B 8.0 8.5 1.4 - <0.5 - -
B 8.0 8.5 15 - <0.5 - -
BEEIER (REDAHA
NP INIESDY & ED i d=FN IS fikeR |[7ZrxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Bl 001LLF | FEH [ 0018LF [ 0058LF | 001LLF [0.0005LLF | FE#EH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -
oroni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
"y &R IRy IFLY oaITFLY oT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -




T39O0 |1,3-S450 - S oy se FAAL Sn, 45 .
IFLY o7aRy ?77-1-\ v jJ}l/jJ Rty LY mﬁ%ﬁ&ixg&*u
i (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#EqE] 0.01L0F | 0.00200F [ 0.00650F | 000350 F [ 0.02LLF | 0.01LLF [ 001LTF | 10MTF
EF_EE — — — — - - - -
4H - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2l - - - - - - - -
ZDHIEHE
_ - IV L
/- L Ss SEMR | JOOFRIVL| 5 o
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TEE - - 2 - - -
=RE - - 2 - - -
4H ;E _ _ <-| — — —
— — 1 — — —
6 ﬁ ;E _ _ 2 - — —_
— — 2 — — —
— — 1 — — —
10R ; E - - 1 - — —
— — 2 — — —
12R ; E = = 2 — - -
o - - <1 - - -
Al om | - q - - -
Bl | BEEE ) ome
(mg/1) (mg/1) (mg/1)
EHE] 19000 — 0.01
48 RE 20000 - 0.01
hE 19000 - -
65 =B 19000 - <0.01
hE 19000 - -
=B 18000 - -
8A m@ [ iso00 = -
=B 19000 - <0.01
10A th S 18000 - -
=B 19000 - 0.01
128 th S 19000 - -
RE 20000 - -
2R g | 20000 = =



THRISEE

A L C LK
BAMEE COD¥EE! | A(##BIA) £ A Hh 5% i i
]]
R St.2 e EXR-BEE —
—RIEH _
7Kim (°C)
1 _XE [KE(CC) =B hE 2IKiR A Fiin 18 R
48 g 20.7 16.5 16.4 30.8 9.5 BE kER-th| &|E
68 Eh 26.8 20.4 20.3 28.0 5.0 BE kER-h| |R
8H N 30.4 24.8 24.7 19.2 4.5 BE kER-h| &|R
108 55 21.0 22.9 22.9 25.4 5.0 BE xEf-f| #E
128 Eh 16.6 18.7 18.7 20.0 12.0 BE kER-h| &|R
28l ®Bh 17.8 16.9 16.7 23.3 115 BE | HEe-R| H#E
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEME| 78~83| 75LLF | 20LLF | 1000LIF | JEieth — —
B (75%IE) - 8.2 1.5(1.6) - <0.5 0.14 0.015
4H == 8.1 8.6 15 = <0.5 0.13 0.014
th & 8.1 8.6 1.3 - <0.5 - -
65 =B 8.0 7.9 1.1 - <0.5 0.12 0.010
th & 8.0 7.8 1.4 - <0.5 - -
8 g =B 8.1 7.7 2.0 - <0.5 - -
th & 8.1 7.7 1.9 - <0.5 - -
108 =B 8.1 8.0 1.6 - <0.5 0.17 0.017
th & 8.1 7.9 15 - <0.5 - -
128 =B 8.1 8.7 1.6 - <0.5 0.15 0.018
th & 8.1 8.9 1.1 - <0.5 - -
25 =B 8.0 8.3 1.9 - <0.5 - -
B 8.0 8.4 1.6 - <0.5 - -
BEEIER (REDAHA
NP INIESDY & ED i d=FN IS fikeR |[7ZrxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Bl 001LLF | FEH [ 0018LF [ 0058LF | 001LLF [0.0005LLF | FE#EH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - -
oroni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
"y &R IRy IFLY oaITFLY oT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - -




TEZORRILETE Fosa | vy | TAY | moby | by [MRERERS
A - - - - - - -
;] - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
Al - | - - - - = - -
ZDHMIEE

Jz/—L| A ss 2ER |soofkus| s

TEE (m%/ 1) (m%/ 1) (m%/ 1) (m%/ 1) (mg/1) (mg/1)
e - g - - -
6A 2B 1 — - ! - - -
sA 2B 1 — - ! - - -
108 —2F 1 — - L - - -
128 iE - - 2 - - -
2A —5E - - 1 - - -

Bl | BEEE ) ome
——— R e
Il B Ee——
R o ———
| i e
Dl ———
Dl - m——
T e ——



THRISEE

A L C LK
BAMEE COD¥EE! | A(##BIA) £ K Hh 5% i i
]]
% St.3 R EXR-BEE —
—iRIEH _
7Kim (°C)
1 _XE [KE(CC) =B fE 2 KE A Fiin 18 R
48 Eh 21.4 16.2 16.2 13.5 4.5 BE kER-th| &|E
68 Eh 25.1 20.7 20.7 6.5 6.0 BE kER-h| |R
8H Eh 29.8 25.0 25.0 5.0 3.0 BE kER-h| &|R
108 55 21.0 228 228 9.2 5.0 BE xEf-f| #E
128 Eh 16.6 18.6 18.6 4.0 4.0 BE kER-h| &|R
28| #Eh 17.8 16.9 17.0 50 5.0 BE | HEe-R| H#E
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEIE| 78~83| 75LLF | 20LLF | 1000LIF | JEietH — —
THE(75%IE) - 8.4 1.4(1.4 - <0.5 0.17 0.014
4H == 8.1 9.1 1.4 = <0.5 0.12 0.012
th8 8.1 9.1 1.0 - <0.5 - -
65 =B 8.0 7.8 1.4 - <0.5 0.16 0.008
th & 8.0 8.0 1.4 - <0.5 - -
8 g =B 8.1 7.5 1.9 - <0.5 - -
th & 8.1 7.5 1.7 - <0.5 - -
108 =B 8.1 8.0 1.2 - <0.5 0.22 0.019
th & 8.1 7.9 1.3 - <0.5 - -
128 =B 8.2 9.0 1.2 - <0.5 0.18 0.017
th & 8.1 8.9 1.9 - <0.5 - -
25 =B 8.0 9.2 1.4 - <0.5 - -
B 8.0 9.2 1.2 - <0.5 - -
BEEIER (REDAHA
NP INIESDY & ED i d=FN IS fikeR |[7ZrxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 0018LTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - -
oyoni| mie [1,2->200] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | F)S0A
Ay &R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - -




Tr59oo|1,3->5n0 — Sompdss FrAL Sn, 4 .
IFLY o7aKRy ?77-1-\ w2 jJ}l/jJ Rty LY mﬁ%ﬁ&ixg&*u
i (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#EqE] 0.01L0F | 0.00200F [ 0.00650F | 000350 F [ 0.02LLF | 0.01LLF [ 001LTF | 10MTF
| EfE - - - - - - - -
4R - - - - - - - -
68 - - - - - - - -
8R - - - - - - - -
10A - - - - - - - -
124 - - - - - - - -
2A[ - - - 3 3 3 : :
ZDhIEE
— - IV L
/- L Ss SEMR | JOOFRIVL| 5 o
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TEE - - 2 - - -
xE - - 1 - - -
4H ;E _ _ 2 _ — —
—_ —_ 3 —_ —_ —_
—_ —_ 3 —_ —_ —_
—_ —_ ‘I —_ —_ —_
1 O ﬁ ;E _ _ <1 — — —
—_ —_ 2 —_ —_ —_
12R ; E - - 3 - — —
> - - <1 - - -
Al o [ - - R - - -
Bl | BEEE ) ome
(mg/1) (mg/1) (mg/1)
EHE] 19000 — 0.01
48 =B 20000 - <0.01
hE 19000 - -
685 =B 18000 - <0.01
hE 18000 - -
=B 18000 - -
8A —m@ [ iso00 = -
=B 19000 - <0.01
10A th S 18000 - -
=B 19000 - 0.01
128 th S 19000 - -
=B 20000 - -
2R g | 20000 = =



THRISEE

A L T LK
Mg | &5 Hh 4 Mg 1s
e BAMEE — COD¥EE! | A(##BIA) £ K Hh 5% i i
St.4 EXR-HEY — -
—HRI5H _
7Kim (°C)
1 _XE [KE(CC) =B fE 2 KE A Fiin 18 R
48 Eh 21.5 16.5 16.5 26.2 7.5 BE kER-th| &|E
68 Eh 28.0 21.0 20.8 33.8 4.5 BE kER-h| |R
8H N 31.6 24.7 24.7 31.0 4.0 BE kER-h| &|R
108 55 21.0 23.1 23.1 21.0 6.0 BE xEf-f| #E
128 & 18.1 18.6 18.6 34.8 115 BE kER-h| &|R
28| fBh 20.1 16.9 16.9 324 11.0 BE | HEe-R| H#E
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
%8| 1.8~83] 715LLE | 20LLF | 1000LLF | FEiRH — —
B (75%IE) - 8.2 1.4(1.6) 0.0 <0.5 0.14 0.013
4H == 8.1 8.5 1.1 = <0.5 0.13 0.015
th & 8.1 8.5 1.2 - <0.5 - -
65 =B 8.0 7.6 1.7 0.0 <0.5 0.13 0.008
th & 8.0 7.7 1.3 - <0.5 - -
8 g =B 8.1 7.6 1.9 - <0.5 - -
th & 8.1 7.6 15 - <0.5 - -
108 =B 8.1 8.1 1.1 0.0 <0.5 0.17 0.014
th & 8.1 8.0 1.1 - <0.5 - -
128 =B 8.2 9.1 1.6 - <0.5 0.14 0.016
th & 8.2 9.0 1.9 - <0.5 - -
25 =B 8.0 8.2 1.2 - <0.5 - -
B 8.0 8.4 1.4 - <0.5 - -
BEEIER (REDAHA
NP INIES DS ED i =W IS fikeR |[7ZrxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#EE] 001 | FE#H [ 001LLTF [ 005LLF | 001LLF [0.0005LLF | FEHEH JERRH |
E{E]  <0.002 - <0.005 <0.02 0.001 <0.0005 - -
478 - - - - - - - -
68| <0.002 - <0.005 <0.02 0.001 <0.0005 - -
8H - - - - - - - -
108] <0.002 - <0.005 <0.02 0.001 <0.0005 - -
128 - - - - - - - -
2Al - - - - - - -
ooyoni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,12-ry4a | RSO0
Ay &R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EfE]  <0.002 ] <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
478 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8H - - - - - - - -
108] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
2Al - - - - - - -




Fh5490n(1,3-o40 = St FARY S . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#EE] 001LLF [0.002F [ 0.006LLF [0.003LLF | 002LLF [ 0.01LAF [ 001LLF | 10LLF
E#HfE]  <0.001_] <0.0002 | _<0.0006 <0.0003 <0.002 <0.001 <0.001 0.01
a8 - - - - - - - -
68| <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
sA[ - - - - - - - -
108 <0.001 | <0.0002 [ <0.0006 <0.0003 <0.002 <0.001 <0.001 0.01
128 - - - - - - - -
2H - - - - - - - -
ZTDHIEE
Jz/—L| 6 ss 2ER |soofkus| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHME - - 1 <0.005 - -
T - - i - - -
A om - - " - - -
3 = = < = = =
- - 2 <0.005 - -
—_ —_ 2 —_ —_ —_
10R ; E - - 3 - - -
—_ —_ ‘I —_ —_ —_
1 2 ﬁ q: E _ _ A — - —
3 = = < = = =
bR () N . .
(mg/1) (mg/1) (mg/1)
¥{E] 19000 <0.01 0.01
4R =E 19000 - <0.01
] 19000 - -
6 =E 19000 <0.01 <0.01
B 18000 - -
=E 17000 - -
8R [—wm [ 18000 = =
=E 19000 - <0.01
10AR th S 18000 - -
=E 19000 - 0.01
12R th S 19000 - -
=E 20000 - -
2R —mm [ 20000 = =



THRISEE

A L C LK
BAMEE COD¥EE! | A(##BIA) £ A Hh 5% i i
]]
% St.5 e EXR-BEE —
—iRI5E _
7Kim (°C)
1 _XE [KE(CC) =B hE 2IKiR A Fiin 18 R
48 g 20.6 16.2 16.0 15.0 5.0 BE kER-th| &|E
68 g 25.1 20.7 20.5 13.5 6.5 BE kER-h| |R
8H Eh 28.3 24.9 24.7 22.9 35 BE kER-h| &|R
108 55 21.0 22.9 22.8 12.0 4.0 BE xEf-f| #E
128 Eh 17.8 18.6 18.6 10.0 10.0 BE kER-h| &|R
28| #Eh 17.9 16.7 16.5 9.2 8.5 BE | HEe-R| H#E
4EFRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEME| 78~83| 75LLF | 20LLF | 1000LIF | JEietH — —
EHE(75%IE) - 8.4 1.4(1.5) - <0.5 0.17 0.014
4H == 8.1 8.9 0.9 = <0.5 0.14 0.016
th & 8.1 8.5 1.4 - <0.5 - -
65 =B 8.0 7.8 1.1 - <0.5 0.15 0.008
th & 8.1 7.7 1.4 - <0.5 - -
8 g =B 8.1 7.5 1.6 - <0.5 - -
th & 8.1 7.5 15 - <0.5 - -
108 =B 8.1 8.1 1.6 - <0.5 0.25 0.015
th & 8.1 8.0 15 - <0.5 - -
128 =B 8.2 9.1 15 - <0.5 0.14 0.016
th & 8.2 9.1 1.3 - <0.5 - -
25 =B 8.0 9.1 1.7 - <0.5 - -
B 8.0 9.1 1.3 - <0.5 - -
BEEIER (REDAEHA
NP INIESDY & ED Ao L IS fikeR |[7ZrxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Bl 001LLF | FEH [ 0018LF [ 0058LF | 001LLF [0.0005LLF | FE#EH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -
ooroni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,12-ry4a | F)S0A
Ay B&R IRy IFLY oaITFLY oT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -




TFr54500(1,3-245n = JN FARY So A .
IFLY o7aRy ?77-1-\ w2 jJ}l/j Rty LY mﬁ%ﬁ&ixg&*u
i (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#EqE] 0.01L0F | 0.00200F [ 0.00650F | 000350 F [ 0.02LLF | 0.01LLF [ 001LTF | 10MTF
EF_EE — — — — - - - -
4H - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2l - - - - - - - -
ZDHIEHE
_ - IV L
/- L Ss SEMR | JOOFRIVL| 5 o
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TEE - - 2 - - -
=RE - - 2 - - -
4H ;E _ _ <1 _ _ _
— — 3 — — —
— — 2 — — —
— — 1 — — —
10R ; E - - 2 - - -
— — 1 — — —
12R ; E - - 1 - — —
o - - <1 - - -
Al o [ - - R - - -
Bl | BEEE ) ome
(mg/1) (mg/1) (mg/1)
EHE] 19000 — 0.01
48 RE 20000 - <0.01
B 20000 - -
65 =B 19000 - <0.01
hE 18000 - -
=B 18000 - -
8A —m@ [ iso00 = -
=B 18000 - <0.01
10A th S 18000 - -
=B 19000 - 0.01
128 th S 19000 - -
RE 20000 - -
2R g | 20000 = =



THRISEE

A L C LK
2 1 J G 1 ¥Ris
e BAMEE — COD¥EH (A(E#ER) £ A Hh 5% i i
St.6 EXR-HEY — -
—iRI5H _
K= (°C)

1 X | SUE (°C) =E hE 2IKiR A Fiin =X R
4H| BZEY 20.2 16.5 16.5 23.8 6.5 BE kER-%| B\BR
68 g 26.1 20.7 20.1 42.0 4.5 BE kER-h| |R
8H N 30.6 24.1 24.1 41.0 6.0 BE kER-h| &|R

108 55 21.0 23.1 23.1 43.5 55 BE xEf-f| #E
128 & 16.2 19.2 19.4 43.5 15.5 BE kER-h| &|R
28] BEh 18.1 17.0 17.3 43.1 14.0 BE | HEe-R| H#E
4EFRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=%lE] 1.8~83] 715LLE | 20LLF | 1000LLF | FEiRH — —
EHE(75%IE) - 8.0 1.3(1.5) 0.0 <0.5 0.19 0.018
4H == 8.1 7.6 1.1 = <0.5 0.32 0.037
th & 8.1 7.5 1.0 - <0.5 - -
65 =B 8.0 8.0 1.6 0.0 <0.5 0.14 0.010
th & 8.0 8.1 1.7 - <0.5 - -
8 g =B 8.1 7.6 1.6 - <0.5 - -
th & 8.1 7.1 1.4 - <0.5 - -
108 =B 8.1 7.8 0.8 0.0 <0.5 0.17 0.012
th & 8.1 7.8 1.0 - <0.5 - -
128 =B 8.1 9.0 1.4 - <0.5 0.13 0.014
th & 8.2 8.9 1.4 - <0.5 - -
25 =B 8.0 8.2 15 - <0.5 - -
B 8.0 8.2 1.2 - <0.5 - -
BEEIER (REDAEHA
NP INIES DS ED i =W IS fikeR |[7ZrxLkiR| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#EE] 001 | FE#H [ 001LLTF [ 005LLF | 001LLF [0.0005LLF | FEHEH JERRH |
E{E]  <0.002 - <0.005 <0.02 0.001 <0.0005 - -
478 - - - - - - - -
68| <0.002 - <0.005 <0.02 0.001 <0.0005 - -
8H - - - - - - - -
108] <0.002 - <0.005 <0.02 0.001 <0.0005 - -
128 - - - - - - - -
28l - - - - - - - -
ooroni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,12-ry4a | F)S0A
Ay B&R IRy IFLY oaITFLY oT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B (] 0.02LLTF [0.0020F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EfE]  <0.002 ] <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
478 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8H - - - - - - - -
108] <0.002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
28l - - - - - - - -




Th3Ho0a|1,3-S450 = [N FARY Sr 45 . WREERRU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| Z#EE] 001LLF [0.00251F [ 0.00654F [0.00350F [ 002LLF [ 001LLF | 001LF [ 10LLF
| E#9fE] <0001 [ <00002 [ <0.0006 | <0.0003 <0.002 <0.001 <0.001 <0.01
4A - - - - - - - -
6A| <0001 | <0.0002 | <0.0006 | <0.0003 <0.002 <0.001 <0.001 <0.01
sA[ - - - - - - - -
108] <0.001 | <0.0002 | <0.0006 | <0.0003 <0.002 <0.001 <0.001 <0.01
128 - g g g - - - g
28 = = = = = = = =
ZDHMIEE
Jz/—L| 6 ss 2ER |soofkus| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHME - - 1 <0.005 - -
T - - i - - -
A om - - " - - -
3 = = 2 = = =
- - <1 <0.005 - -
—_ —_ 2 —_ —_ —_
10R ; E - = 1 — - -
—_ —_ 2 —_ —_ —_
12R ; E - - > - - -
—_ —_ <1 —_ —_ —_
By | EIHERME . .
(mg/1) (mg/1) (mg/1)
18] 19000 <0.01 0.01
48 =B 20000 - 0.01
g 20000 - -
6 E] 18000 <0.01 <0.01
g 18000 - -
E] 19000 - -
8A 5@ [ 1000 = =
E] 19000 - <0.01
10A th S 18000 - -
E] 19000 - <0.01
128 th S 19000 - -
=B 20000 - -
2R —mm [ 20000 = =



